

Chain Rule, Deriving Trig Functions and Position Notes

Differentiate each function with respect to the given variable.

$$\frac{dh}{dt} \text{ or } h'(t) \quad 1) \ h = \sqrt{\frac{5t^2+2}{3t^4+5}} \rightarrow h = \left(\frac{5t^2+2}{3t^4+5}\right)^{\frac{1}{2}}$$

$$\frac{dh}{dt} = \frac{1}{2} \left(\frac{5t^2+2}{3t^4+5}\right)^{-\frac{1}{2}} \cdot \left(\frac{(3t^4+5)(10t) - (5t^2+2)(12t^3)}{(3t^4+5)^2}\right)$$

$$2) \ g = (-s^2 - 5)^{-3} \sqrt{3s^3 - 5}$$

$$g = (-s^2 - 5)^{-3} \cdot (3s^3 - 5)^{\frac{1}{2}}$$

$$\frac{dg}{ds} = \underbrace{(-s^2 - 5)^{-3}}_{\text{NoDer(1)}} \cdot \underbrace{\frac{1}{2} (3s^3 - 5)^{-\frac{1}{2}} \cdot 9s^2}_{\text{Der(2)}} + \underbrace{(3s^3 - 5)^{\frac{1}{2}}}_{\text{NoDer(2)}} \cdot \underbrace{(-3)(-s^2 - 5)^{-4} \cdot (-2s)}_{\text{Der(1)}}$$

$$3) \ h(s) = (4s^3 + 1)^{-3}$$

$$h'(s) = -3(4s^3 + 1)^{-4} \cdot (12s^2) = \frac{-36s^2}{(4s^3 + 1)^4}$$

$$4) f = ((3x+5)^3 - 2)^{\frac{1}{4}}$$

$$O \quad t^{\frac{1}{4}} \longrightarrow \frac{1}{4} t^{-\frac{3}{4}}$$

$$t^3 - 2 \longrightarrow 3t^2$$

$$I \quad 3x+5 \longrightarrow 3$$

$$f'(x) = \frac{1}{4} ((3x+5)^3 - 2)^{-\frac{3}{4}} \cdot 3(3x+5)^2 \cdot 3$$

Differentiate each function with respect to x .

$$5) f(x) = \frac{\csc 4x^4}{\cot x^3}$$

$$f'(x) = \frac{\cot(x^3)(-\csc(4x^4) \cdot 16x^3) - \csc(4x^4)(-\csc^2(x^3) \cdot 3x^2)}{(\cot(x^3))^2}$$

\searrow $\cot^2(x^3)$
Same statement

$$6) f(x) = \cot(\sin 3x^3)$$

$$O \quad \cot t \longrightarrow -\csc^2 t$$

$$\sin t \longrightarrow \cos t$$

$$I. \quad 3x^3 \longrightarrow 9x^2$$

$$f'(x) = -\csc^2(\sin(3x^3)) \cdot \cos(3x^3) \cdot 9x^2$$

$$7) y = + \frac{-16x}{(2x-5)^2}$$

$$\frac{dy}{dx} = \frac{(2x-5)^2(-16) - (-16x)2(2x-5)}{(2x-5)^4}$$

$$\Rightarrow -32x + 80 + 64x$$

$$\Rightarrow \frac{32x+80}{(2x-5)^3} \quad \text{or} \quad \frac{16(2x+5)}{(2x-5)^3}$$

For each problem, find the equation of the line tangent to the function at the given point.

$$8) y = -\frac{16x}{(2x-5)^2} \text{ at } x=2$$

$$\checkmark x, y, \frac{dy}{dx} \checkmark$$

$$y(2) = \frac{-16(2)}{(2(2)-5)^2} = \frac{-32}{1}$$

$$\frac{dy}{dx} \Big|_{x=2} = \frac{16(2(2)+5)}{(2(2)-5)^3} = \frac{144}{-1}$$

$$y + 32 = -144(x-2)$$

For each problem, find the equation of the line normal to the function at the given point.

$$9) y = -\sec(x) \text{ at } x = -\frac{\pi}{6}$$

$$y\left(-\frac{\pi}{6}\right) = -\sec\left(-\frac{\pi}{6}\right)$$

$$= -\frac{2}{\sqrt{3}}$$

$$\frac{dy}{dx} = -\sec(x)\tan(x)$$

$$\frac{dy}{dx} \Big|_{x=-\frac{\pi}{6}} = -\sec\left(-\frac{\pi}{6}\right)\tan\left(-\frac{\pi}{6}\right)$$

$$= -\left(\frac{2}{\sqrt{3}}\right)\left(\frac{-1/2}{\sqrt{3}/2}\right)$$

$$= -\left(\frac{2}{\sqrt{3}}\right)\left(\frac{-1}{\sqrt{3}}\right)$$

$$= \frac{2}{3} \perp -\frac{3}{2}$$

$$y + \frac{2}{\sqrt{3}} = -\frac{3}{2}\left(x + \frac{\pi}{6}\right)$$



